

Letting:

Florida Department of Transportation

12/06/2024

Page 1 of 1

Vendor Ranking

Call Order: 002

Contract: E4X66-R0

AM

Contract Desc: PALM BEACH LIGHTING DEFICIENCIES - LIGHTING

December 06, 2024 10:30

District: District 4

Counties: PALM BEACH

Fed Aid No: N/A

Project(s): 40512137201 (*)

Contract Time: 365 CALENDAR DAYS

04241206

Percent Of **Bid Type Bid Status** Rank Vendor **Total Bid** Low Bid 1 UPRIGHT ELECTRICAL SERVICES LLC Responsive Winning bid \$189,020.00 100.00% 2 SICE INC Non-Winning Bid 152.07% Responsive \$287,439.63 3 AMERICAN LIGHTING AND SIGNALIZATION, LLC. Responsive Non-Winning Bid \$665,500.00 352.08% 4 ARC ELECTRIC INC Responsive Non-Winning Bid \$958,850.00 507.27%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE:

01/07/25

BEGIN TIME:

10:30 AM

END DATE:

01/10/25

END TIME:

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 200,000.00 and not the contractor's bid total.





Tabulation of Bids

Page 1 of 19

Letting: 04241206 December 06, 2024 **Call Order:** 002 **Contract:** E4X66-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 40512137201 (*)

Contract Descr: PALM BEACH LIGHTING DEFICIENCIES - LIGHTING

The work under this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform diagnostic services, repairs, and replacements to maintain the highway lighting system, which is comprised of conventional/standard, sign, under-deck and high mast lighting on state roads in Palm Beach County, FL.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$200,000.00 and not the contractor's bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2024-25 (SECTION 7-13) FOR INSURANCE LIMITS.

TOR INSURANCE EINIT	<u>. </u>							
Line No / Item ID Item Description	Alternate	Quantity Units	(1) UPRIGHT E SERVICI		(2) SIC	E INC		LIGHTING AND ATION, LLC.
() indicates item is bid as	: Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00)01 (Sc	ODDING (SY						
0005 0110 4 10 REMOVAL OF EXISTING	CONCRETE	40.000 SY	25.00000	1,000.00	78.10000	3,124.00	200.00000	8,000.00
0010 0120 1 REGULAR EXCAVATION		25.000 CY	25.00000	625.00	130.17000	3,254.25	100.00000	2,500.00
0015 0120 6 EMBANKMENT		25.000 CY	25.00000	625.00	162.71000	4,067.75	150.00000	3,750.00
0020 0121 70 2 FLOWABLE FILL, MAINT CONTRACTS ONLY	ENANCE	5.000 CY	100.00000	500.00	260.33000	1,301.65	300.00000	1,500.00
0025 0522 1 CONCRETE SIDEWALK A DRIVEWAYS, 4" THICK	AND	100.000 SY	50.00000	5,000.00	117.15000	11,715.00	175.00000	17,500.00





Tabulation of Bids

Page 2 of 19

Letting:	04241	1206 D	ecember 06,	2024 Ca	II Order: 002		Contract:	E4X66-R0	
Line No / Item		Alternate	Quantity Units	(1) UPRIGHT SERVIC		(2) SIC	E INC		LIGHTING AND ATION, LLC.
() indicates iter		Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTI	ON: 000	01 (SODDING (SY	•					
0030 0522 2 CONCRETE SID DRIVEWAYS, 6"		ND	100.000 SY	50.00000	5,000.00	156.20000	15,620.00	200.00000	20,000.00
0035 0570 1 PERFORMANCE		OD	20.000 SY	20.00000	400.00	13.02000	260.40	60.00000	1,200.00
0040 0630 2 CONDUIT, FURN TRENCH		STALL, OPE	40.000 EN LF	50.00000	2,000.00	32.54000	1,301.60	50.00000	2,000.00
0045 0630 2 CONDUIT, FURN DIRECTIONAL B	ISH & IN	STALL,	140.000 LF	50.00000	7,000.00	52.07000	7,289.80	60.00000	8,400.00
0050 0630 2 CONDUIT, FURN ABOVEGROUND	ISH & IN	STALL,	100.000 LF	10.00000	1,000.00	52.07000	5,207.00	60.00000	6,000.00
0055 0635 2 PULL & SPLICE COVER SIZE		, 13" x 24"	5.000 EA	1,000.00000	5,000.00	1,627.07000	8,135.35	1,500.00000	7,500.00
0060 0635 2 PULL & SPLICE		TALL	5.000 EA	300.00000	1,500.00	1,171.49000	5,857.45	200.00000	1,000.00
0065 0635 2 PULL & SPLICE		PAIR	70.000 EA	100.00000	7,000.00	195.25000	13,667.50	250.00000	17,500.00
0070 0635 3 JUNCTION BOX, MOUNTED		⊣ & INSTALI	6.000 L, EA	100.00000	600.00	846.08000	5,076.48	100.00000	600.00



Page 3 of 19

Florida Department of Transportation



Tabulation of Bids

Letting:	04241206	December 06,	2024 Cal	Il Order: 002		Contract:	E4X66-R0	
	o / Item ID Alternatescription	te Quantity Units	(1) UPRIGHT I		(2) SIC	E INC	(3) AMERICAN SIGNALIZA	LIGHTING AND TION, LLC.
() indica	tes item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0001	(SODDING (SY	•					
ELECTRIC	639 1122 CAL POWER SERVICE, F ROUND, METER PURCH/ RACTOR		500.00000	500.00	3,194.91000	3,194.91	25,000.00000	25,000.00
	639 3 11 CAL SERVICE DISCONNE MOUNT	1.000 ECT, EA	500.00000	500.00	1,405.14000	1,405.14	1,500.00000	1,500.00
	639 3 12 CAL SERVICE DISCONNE NET	1.000 ECT, EA	500.00000	500.00	1,405.14000	1,405.14	1,500.00000	1,500.00
ELECTRIC	639 3 60 CAL SERVICE DISCONNE POLE OR CABINET TO	2.000 ECT, EA	100.00000	200.00	374.88000	749.76	500.00000	1,000.00
	641 218 SSED CONCRETE POLE III	1.000 E, F&I, EA	1,000.00000	1,000.00	6,963.85000	6,963.85	10,000.00000	10,000.00
PRESTRES COMPLET	641 260 SSED CONCRETE POLE E POLE REMOVAL- L/SERVICE POLE	2.000 E, EA	200.00000	400.00	1,499.51000	2,999.02	1,500.00000	3,000.00
LIGHTING	715 1 11 CONDUCTORS, F&I, ED, NO. 10 OR <	200.000 LF	3.00000	600.00	2.42000	484.00	15.00000	3,000.00
LIGHTING	715 1 12 CONDUCTORS, F&I, ED, NO.8 - 6	25.000 LF	50.00000	1,250.00	4.12000	103.00	20.00000	500.00





Tabulation of Bids

Page 4 of 19

Letting:	04241	1206 D	ecember 06,	2024 Ca	II Order: 002		Contract:	E4X66-R0	
Line No /		Alternate	Quantity Units	(1) UPRIGHT I SERVIC	ELECTRICAL ES LLC	(2) SIC	CE INC		LIGHTING AND ATION, LLC.
	s item is bid as l	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 000	01 (SODDING (SY						
LIGHTING CO	5 1 13 ONDUCTORS NO 4 TO NO		3,000.000 LF	2.00000	6,000.00	5.64000	16,920.00	24.00000	72,000.00
LIGHTING CO	5 1 14 ONDUCTORS NO 1 TO NO		4,000.000 LF	1.00000	4,000.00	7.13000	28,520.00	24.00000	96,000.00
LIGHTING CO	5 170 ONDUCTORS FDOT OR MA			30.00000	30.00	6.51000	6.51	10.00000	10.00
LUMINAIRE	5 5 21 & BRACKET A AND ARM ON		1.000 ACE EA	1,000.00000	1,000.00	2,455.90000	2,455.90	4,500.00000	4,500.00
LUMINAIRE (ALUMINUM,	5 531 & BRACKET A FURNISH & II AND ARM ON NG POLE	NSTALL NE\	1.000 EA <i>N</i>	2,000.00000	2,000.00	2,455.90000	2,455.90	4,500.00000	4,500.00
LUMINAIRE &	5 5 51 & BRACKET A AND ARM; PC			500.00000	500.00	749.75000	749.75	1,000.00000	1,000.00
	5 11125 F&I, UNDER	DECK, WAL	1.000 L EA	500.00000	500.00	2,671.78000	2,671.78	1,200.00000	1,200.00
LUMINAIRE, LUMINAIRE	5 11211 F&I- REPLAC ON EXISTING COBRA HEAL	POLE/ARM		2,000.00000	2,000.00	1,829.15000	1,829.15	4,000.00000	4,000.00





Tabulation of Bids

Page 5 of 19

Letting:	04241206	December 06,	2024 Ca	II Order: 002		Contract:	E4X66-R0	
Line No / It		nate Quantity Units	(1) UPRIGHT SERVIC		(2) SIC	E INC		LIGHTING AND ATION, LLC.
	tem is bid as Lump S		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SODDING (SY	(
LUMINAIRE, F	11213 &I- REPLACE EXI: N EXISTING POLE DLE TOP		2,000.00000	2,000.00	1,829.15000	1,829.15	4,000.00000	4,000.00
0160 0715 LIGHTING - RE PROTECTOR	19 3 EPLACE EXISTING	1.000 G SURGE EA	500.00000	500.00	854.21000	854.21	25.00000	25.00
	21 2 PAIRS AND RETR T KIT FOR EXISTI		20.00000	20.00	889.03000	889.03	1,000.00000	1,000.00
	PAIRS- REPLACE ING DEVICE ON	1.000 HIGH EA	1,000.00000	1,000.00	1,446.14000	1,446.14	40,000.00000	40,000.00
0175 0715 LIGHTING- DIA	32 AGNOSTIC WORK	25.000 LO	1,000.00000	25,000.00	299.90000	7,497.50	1,000.00000	25,000.00
0180 0715 LIGHT POLE, I TRANSFORME	FRANGIBLE BASE	1.000 E, F&I, EA	300.00000	300.00	1,794.33000	1,794.33	750.00000	750.00
	INTENANCE/REHA	1.000 AB- EA	500,00000	500.00	889.03000	889.03	100.00000	100,00
	4 1 REPAIR- FURNISH D HOLE COVER	25.000 I AND EA	50.00000	1,250.00	83.57000	2,089.25	30.00000	750.00





Tabulation of Bids

Page 6 of 19

Letting	g : 04	4241206	December 06,	2024 Ca	II Order: 002		Contract:	E4X66-R0	
	No / Item ID	Alternat	te Quantity Units	(1) UPRIGHT SERVIC		(2) SIC	E INC		LIGHTING AND ATION, LLC.
() inc	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY	•					
0195 HIGH M CABLE)	E715 15110 IAST PARTS (I	F&I)(LOWERII	5.000 NG EA	1,000.00000	5,000.00	1,126.58000	5,632.90	7,500.00000	37,500.00
0200 HIGH M CABLE)	E715 15120 IAST PARTS (I	F&I)(POWER	5.000 EA	200.00000	1,000.00	1,126.58000	5,632.90	7,400.00000	37,000.00
0205 HIGH M ASSEM	E715 15180 IAST PARTS (I BLY)	F&I) (BALLAS	5.000 T EA	200.00000	1,000.00	1,056.94000	5,284.70	500.00000	2,500.00
0210 BALLAS	E715 16 1 ST (F&I)		5.000 EA	200.00000	1,000.00	1,056.94000	5,284.70	200.00000	1,000.00
0215 LAMP (I	E715 17 1 HPS)		5.000 EA	50.00000	250.00	1,544.41000	7,722.05	150.00000	750.00
0220 LAMP (I	E715 17 7 HPS HIGH MA	ST)	5.000 EA	50.00000	250.00	1,683.69000	8,418.45	150.00000	750.00
0225 LOAD C BREAK	E715 18102 CENTER PART ER)	- (F&I) (DBL P	1.000 OLE EA	1,000.00000	1,000.00	1,028.31000	1,028.31	1,000.00000	1,000.00
	E715 18104 CENTER PART & ENCLOSUR		1.000 KER EA	1,000.00000	1,000.00	1,446.14000	1,446.14	5,000.00000	5,000.00
0235 LOAD C (CONTA	E715 18105 CENTER PART ACTOR)	(F&I)	1.000 EA	500.00000	500.00	826.36000	826.36	1,000.00000	1,000.00



Page 7 of 19

Florida Department of Transportation



Tabulation of Bids

Letting:	04	241206	December 06,	2024 Ca	II Order: 002		Contract:	E4X66-R0	
Line No / It		Alternate	e Quantity Units	(1) UPRIGHT SERVIC		(2) SIC	E INC		LIGHTING AND ATION, LLC.
	•	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION:	0001	(SODDING (SY	,					
0240 E715 LOAD CENTEI CONTR TRAN			1.000 CELL EA	100.00000	100.00	1,097.95000	1,097.95	250.00000	250.00
0245 E715 LOAD CENTEI (PHOTOCELL)		(F&I)	1.000 EA	50.00000	50.00	1,097.95000	1,097.95	25.00000	25.00
0250 E715 LOAD CENTEI SOCKET)	18108 R PART	(F&I) (PHOTO	1.000 DCELL EA	50.00000	50.00	958.67000	958.67	30.00000	30.00
0255 E715 LOAD CENTEI SWITCH AUTO			1.000 M EA	100.00000	100.00	958.67000	958.67	30.00000	30.00
0260 E715 LOAD CENTEI FUSE)	18112 R PART	(F&I) (CIRCU	1.000 IT EA	400.00000	400.00	1,097.95000	1,097.95	30.00000	30.00
0265 E715 GROUND ROE			5.000 EA	20.00000	100.00	257.08000	1,285.40	100.00000	500.00
0270 E715 FUSE (F&I) (P		SE)	1.000 EA	400.00000	400.00	1,097.95000	1,097.95	300.00000	300.00
0275 E715 DUMMY SLUG		POLE BASE)	1.000 EA	20.00000	20.00	1,097.95000	1,097.95	50.00000	50.00
0280 E715 FUSE HOLDEI		POLE BASE)	1.000 EA	100.00000	100.00	958.67000	958.67	100.00000	100.00





Tabulation of Bids

Page 8 of 19

Letting	g : 042	241206 [December 06,	2024 Ca	II Order: 002		Contract:	E4X66-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) UPRIGHT SERVIC		(2) SIC	E INC		LIGHTING AND ATION, LLC.
	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY	,					
0285 FUSE H (F&I)	E715 25 2 IOLDER / DISCO	ONNECT PLU	1.000 G EA	400.00000	400.00	958.67000	958.67	100.00000	100.00
	E715 26 3 DISCONNECT E POLE BASE)	BREAKER (HIC	1.000 GH EA	100.00000	100.00	1,655.05000	1,655.05	200.00000	200.00
0295 SYSTEM	E715 29 M PATROLLING	i	12.000 MO	5,000.00000	60,000.00	2,999.01000	35,988.12	1,000.00000	12,000.00
0300 DIAGNO SINGLE	E715 32 1 OSTIC WORK (S : ARM)	SHOULDER	5.000 LO	1,000.00000	5,000.00	299.90000	1,499.50	1,000.00000	5,000.00
0305 DIAGNO	E715 32 7 DSTIC WORK (L	OAD CENTER	5.000 R) LO	100.00000	500.00	299.90000	1,499.50	500.00000	2,500.00
0310 DIAGNO	E715 32 10 OSTIC WORK (C	CIRCUIT)	1.000 LO	1,000.00000	1,000.00	749.75000	749.75	1,000.00000	1,000.00
0315 DIAGNO GROUN	E715 32 11 DSTIC WORK (H ID)	HIGH MAST,	1.000 LO	2,000.00000	2,000.00	749.75000	749.75	1,000.00000	1,000.00
0320 DIAGNO AERIAL	E715 32 12 DSTIC WORK (H)	HIGH MAST,	1.000 LO	1,000.00000	1,000.00	749.75000	749.75	10,000.00000	10,000.00
0325 PRE-EV MAST L	E715 33 1 'ENT LOWER/SI IGHT	ECURE OF HI	87.000 IGH EA	100.00000	8,700.00	83.31000	7,247.97	800.00000	69,600.00





Tabulation of Bids

Page 9 of 19

Letting:	04241206	December 06,	2024 Cal	II Order: 002		Contract:	E4X66-R0	
Line No / It		e Quantity Units	(1) UPRIGHT I SERVIC		(2) SIC	E INC		LIGHTING AND ATION, LLC.
	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SODDING (SY						
POST EVENT	33 2 DIAGNOSTIC AND HIGH MAST LIGHT	87.000 EA	100.00000	8,700.00	83.31000	7,247.97	900.00000	78,300.00
	34 03 HANDHOLE) (DOOR F&I)	5.000 EA	100.00000	500.00	417.05000	2,085.25	40.00000	200.00
0	001 SODDING (SY)	Section Totals:		\$189,020.00		\$287,439.63		\$665,500.00
	Contract G	erand Totals:		\$189,020.00		\$287,439.63		665,500.00





Tabulation of Bids

Page 10 of 19

Letting:	04241206	December 06,	2024 Ca l	l Order: 002		Contract:	E4X66-R0	
Line No /		ate Quantity Units	(4) ARC ELE	ECTRIC INC				
	s item is bid as Lump Sui		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(SODDING (SY		,				
	0 410 FEXISTING CONCR	40.000 ETE SY	85.00000	3,400.00				
0010 0120 REGULAR EX		25.000 CY	500.00000	12,500.00				
0015 012 EMBANKMEI		25.000 CY	500.00000	12,500.00				
	1 70 2 FILL, MAINTENANCE S ONLY	5.000 CY	250.00000	1,250.00				
0025 052 CONCRETE DRIVEWAYS	SIDEWALK AND	100.000 SY	120.00000	12,000.00				
0030 052 CONCRETE DRIVEWAYS	SIDEWALK AND	100.000 SY	140.00000	14,000.00				
	0 1 2 NCE TURF, SOD	20.000 SY	500.00000	10,000.00				
	0 2 11 URNISH & INSTALL,	40.000 OPEN LF	45.00000	1,800.00				
	0 2 12 URNISH & INSTALL, AL BORE	140.000 LF	100.00000	14,000.00				





Tabulation of Bids

Page 11 of 19

Letting:	: 04	4241206	December 06, 2	2024 Cal	l Order: 002		Contract:	E4X66-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) ARC ELE	CTRIC INC				
() indic	cates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
	0630 2 14 T, FURNISH ROUND	& INSTALL,	100.000 LF	55.00000	5,500.00				
		F&I, 13" x 24"	5.000 EA	4,000.00000	20,000.00				
	0635 2 30 SPLICE BOX,	INSTALL	5.000 EA	2,000.00000	10,000.00				
	0635 2 50 SPLICE BOX,	REPAIR	70.000 EA	600.00000	42,000.00				
		RNISH & INSTA	6.000 ALL, EA	1,200.00000	7,200.00				
ELECTRIC UNDERG		R SERVICE, FA		8,000.00000	8,000.00				
		CE DISCONNE	1.000 CT, EA	7,000.00000	7,000.00				
		CE DISCONNE	1.000 CT, EA	7,000.00000	7,000.00				





Tabulation of Bids

Page 12 of 19

Letting:	04241206	December 06, 2	2024 Cal	l Order: 002		Contract:	E4X66-R0	
Line No / It		e Quantity Units	(4) ARC ELE	CTRIC INC				
() indicates i	tem is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SODDING (SY						
	3 60 SERVICE DISCONNE LE OR CABINET TO	2.000 ECT, EA	1,000.00000	2,000.00				
0095 0641 PRESTRESSE TYPE P-VIII	2 18 ED CONCRETE POLE	1.000 , F&I, EA	60,000.00000	60,000.00				
	ED CONCRETE POLE OLE REMOVAL-	2.000 , EA	5,000.00000	10,000.00				
0105 0715 LIGHTING CO INSULATED, N	NDUCTORS, F&I,	200.000 LF	6.00000	1,200.00				
0110 0715 LIGHTING CO INSULATED, N	NDUCTORS, F&I,	25.000 LF	00000.8	200.00				
0115 0715 LIGHTING CO INSULATED, N	NDUCTORS, F&I,	3,000.000 LF	7.00000	21,000.00				
0120 0715 LIGHTING CO INSULATED, N	NDUCTORS, F&I,	4,000.000 LF	12.00000	48,000.00				
	1 70 NDUCTORS, REMOV DOT OR MAINT AGI		5,000.00000	5,000.00				





Tabulation of Bids

Page 13 of 19

Letting:	04241206	December 06, 2	2024 Cal	l Order: 002		Contract:	E4X66-R0	
Line No		ate Quantity Units	(4) ARC ELE	CTRIC INC				
() indicate	es item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	(SODDING (SY						
LUMINAIRE	15 521 & BRACKET ARM, RI AND ARM ON EXIST		3,000.00000	3,000.00				
LUMINAIRE ALUMINUM,	15 531 & BRACKET ARM- , FURNISH & INSTALL AND ARM ON ING POLE	1.000 EA . NEW	6,000.00000	6,000.00				
LUMINAIRE	15 551 & BRACKET ARM, RI AND ARM; POLE REI		1,000.00000	1,000.00				
	15 11125 , F&I, UNDER DECK, '	1.000 WALL EA	2,000.00000	2,000.00				
LUMINAIRE LUMINAIRE	15 11211 , F&I- REPLACE EXIS ON EXISTING POLE/ COBRA HEAD		1,500.00000	1,500.00				
LUMINAIRE	15 11213 , F&I- REPLACE EXIS ON EXISTING POLE/ POLE TOP		15,000.00000	15,000.00				
	15 19 3 REPLACE EXISTING R	1.000 SURGE EA	1,000.00000	1,000.00				





Tabulation of Bids

Page 14 of 19

Letting: 0424	11206 De	cember 06, 2	2024 Cal	l Order: 002		Contract:	E4X66-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(4) ARC ELE	CTRIC INC				
() indicates item is bid as	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	001 (S	ODDING (SY						
0165 0715 21 2 LIGHTING REPAIRS AND LED RETROFIT KIT FOR LUMINAIRE		1.000 , EA	2,000.00000	2,000.00				
0170 0715 21 3 LIGHTING REPAIRS- RE MAST LOWERING DEVICE EXISTING POLE		1.000 EA	3,000.00000	3,000.00				
0175 0715 32 LIGHTING- DIAGNOSTIC	WORK	25.000 LO	1,000.00000	25,000.00				
0180 0715 36 12 LIGHT POLE, FRANGIBL TRANSFORMER BASE	E BASE, F&I,	1.000 EA	1,000.00000	1,000.00				
0185 0715 37 1 LIGHTING MAINTENANC PHOTO ELECTRIC CON ASSEMBLY, F&I		1.000 EA	1,000.00000	1,000.00				
0190 E715 4 1 LIGHT POLE REPAIR- FI INSTALL HAND HOLE CO		25.000 EA	500.00000	12,500.00				
0195 E715 15110 HIGH MAST PARTS (F&I CABLE))(LOWERING	5.000 EA	1,000.00000	5,000.00				
0200 E715 15120 HIGH MAST PARTS (F&I CABLE))(POWER	5.000 EA	1,000.00000	5,000.00				





Tabulation of Bids

Page 15 of 19

Lettin	g : 0	4241206	December 06, 2	2024 Cal	l Order: 002		Contract:	E4X66-R0	
	No / Item ID	Alternat	e Quantity Units	(4) ARC ELE	ECTRIC INC				
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY		1		ĺ		
0205 HIGH M ASSEM		F&I) (BALLAS	5.000 T EA	1,000.00000	5,000.00				
0210 BALLAS	E715 16 1 ST (F&I)		5.000 EA	1,000.00000	5,000.00				
0215 LAMP (E715 17 1 HPS)		5.000 EA	1,000.00000	5,000.00				
0220 LAMP (E715 17 7 HPS HIGH MA	AST)	5.000 EA	1,000.00000	5,000.00				
0225 LOAD C BREAK		Γ (F&I) (DBL P	1.000 OLE EA	1,000.00000	1,000.00				
	E715 18104 CENTER PART & ENCLOSUF	Γ (F&I)(BREAK RE)	1.000 ER EA	1,000.00000	1,000.00				
	E715 18105 CENTER PART ACTOR)	Γ (F&I)	1,000 EA	1,000.00000	1,000.00				
	E715 18106 CENTER PART TRANSFORM	Г (F&I)(PHOTC Л)	1.000 DCELL EA	1,000.00000	1,000.00				
0245 LOAD ((PHOT)	E715 18107 CENTER PART OCELL)	Γ (F&I)	1.000 EA	1,000.00000	1,000.00				





Tabulation of Bids

Page 16 of 19

Letting:	04:	241206 <u></u> [December 06, 2	2024 Cal	l Order: 002		Contract:	E4X66-R0	
Line No / I		Alternate	Quantity Units	(4) ARC ELE	CTRIC INC				
() indicates	item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION:	0001	(SODDING (SY						
0250 E715 LOAD CENTE SOCKET)	5 18108 ER PART ((F&I) (PHOTO	1.000 CELL EA	1,000.00000	1,000.00				
0255 E715 LOAD CENTE SWITCH AUT			1.000 I EA	1,000.00000	1,000.00				
0260 E715 LOAD CENTE FUSE)	5 18112 ER PART ((F&I) (CIRCUI	1.000 Г EA	1,000.00000	1,000.00				
0265 E715 GROUND RO	5 22 1 D		5.000 EA	1,000.00000	5,000.00				
0270 E715 FUSE (F&I) (F	5 24 1 POLE BAS	SE)	1.000 EA	1,000.00000	1,000.00				
0275 E715 DUMMY SLUG	5 24 4 G (F&I) (P	POLE BASE)	1.000 EA	1,000.00000	1,000.00				
0280 E715 FUSE HOLDE	5 25 1 ER (F&I) (F	POLE BASE)	1.000 EA	1,000.00000	1,000.00				
0285 E715 FUSE HOLDE (F&I)	5 25 2 ER / DISC	ONNECT PLU	1.000 G EA	1,000.00000	1,000.00				
0290 E715 QUICK DISCO MAST POLE		BREAKER (HI	1.000 GH EA	1,000.00000	1,000.00				





Tabulation of Bids

Page 17 of 19

Letting:	04241206	December 06,	2024 Ca l	Il Order: 002		Contract:	E4X66-R0	
Line No		ate Quantity Units	(4) ARC ELE	ECTRIC INC				
	es item is bid as Lump Sui		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	(SODDING (SY		ı		1		
0295 E7 SYSTEM PA	15 29 ATROLLING	12.000 MO	400.00000	4,800.00				
	15 32 1 IC WORK (SHOULDEF M)	5.000 R LO	1,000.00000	5,000.00				
	15 32 7 IC WORK (LOAD CEN ⁻	5.000 TER) LO	1,000.00000	5,000.00				
	15 32 10 IC WORK (CIRCUIT)	1.000 LO	1,000.00000	1,000.00				
	15 32 11 IC WORK (HIGH MAST	1.000 -, LO	1,000.00000	1,000.00				
	15 32 12 IC WORK (HIGH MAST	1.000 T, LO	1,000.00000	1,000.00				
	15 33 1 TLOWER/SECURE OF T	87.000 FHIGH EA	2,500.00000	217,500.00				
POST EVEN	15 33 2 NT DIAGNOSTIC AND F HIGH MAST LIGHT	87.000 EA	3,000.00000	261,000.00				
	15 34 03 E (HANDHOLE) (DOO!) (F&I)	5.000 R EA	1,000.00000	5,000.00				





Tabulation of Bids

Page 18 of 19

Letting:	04241206	December 06,	2024 C	all Order: 002		Contract:	E4X66-R0	
Line No / Item I		nate Quantity Units	(4) ARC EL	ECTRIC INC				
() indicates item i	is bid as Lump Sເ		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (SODDING (SY

0001 SODDING (SY) Section Totals: \$958,850.00

Contract Grand Totals:	\$958,850.00		
------------------------	--------------	--	--



12/06/2024

Tabulation of Bids

Page 19 of 19

Letting: 04241206 December 06, 2024 **Call Order:** 002 **Contract:** E4X66-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.